
 

 

 

 

 

1)Translate these sentences. 

  1  He’s wearing trainers, jeans and a jacket. 

Él lleva puestas unas zapatillas, vaqueros y una chaqueta. 

  2  He’s wearing a tracksuit, a T-shirt and a cap. 

Él lleva puesto un chándal, una camiseta y una gorra. 

3  She’s wearing a dress and a scarf.  

Ella lleva puesta un vestido y una bufanda. 

4  He’s wearing a sweatshirt, trousers and shoes. 

Él lleva puesta una sudadera con capucha, pantalones y zapatos. 

 

2)Order these sentences. 

 

1- Wearing / Is / a / tracksuit / he?  Is he wearing a tracksuit? 

Is / he / Yes  Yes, he is. 

 

2- cap she Is a wearing?  Is she wearing a cap? 

isn´t / No / she  No. she isn´t 

3- she / Is / sandals / wearing?  Is she wearing sandals?. 

Yes / is / she Yes, she is. 

4 Is / sweatshirt / a / he / wearing?  Is he wearing a sweatshirt?. 

he / isn´t / No  No, he isn´t. 

 

 

 

 

 


